

$$f \circ g(x) = f(g(x)) \dots \textcircled{1}$$

$$(f+g)(x) = f(x) + g(x) \dots \textcircled{2}$$

$$(f \cdot g)(x) = f(x) \cdot g(x) \dots \textcircled{3}$$

$$\bullet F^*(f + \alpha g) = F^*(f) + \alpha F^*(g)$$

$$\text{WTS. } (f + \alpha g) \circ F = f \circ F + \alpha g \circ F$$

$$\forall x \in U. ((f + \alpha g) \circ F)(x) = (f \circ F + \alpha g \circ F)(x)$$

$$\begin{aligned} (f + \alpha g)(F(x)) &= f(F(x)) + \alpha g(F(x)) \\ &= f \circ F(x) + \alpha g \circ F(x) \\ &= (f \circ F + \alpha g \circ F)(x) \end{aligned}$$

$$\rightarrow (f + \alpha g) \circ F = f \circ F + \alpha g \circ F$$

$$\therefore F^*(f + \alpha g) = F^*(f) + \alpha F^*(g)$$

$$\bullet F^*(fg) = F^*(f)F^*(g)$$

$$\text{WTS. } fg \circ F = (f \circ F)(g \circ F)$$

$$\forall x \in U. (fg \circ F)(x) = (f \circ F)(g \circ F)(x)$$

$$\begin{aligned} (fg)(F(x)) &= f(F(x))g(F(x)) \\ &= f \circ F(x)g \circ F(x) = (f \circ F)(g \circ F)(x) \end{aligned}$$

$$\rightarrow fg \circ F = (f \circ F)(g \circ F) \quad \therefore F^*(fg) = F^*(f)F^*(g)$$

$$\bullet F_*(X_p + \alpha Y_p) = F_*(X_p) + \alpha F_*(Y_p)$$

$$\forall f \in C^\infty_p. [F_*(X_p + \alpha Y_p)](f) = (X_p + \alpha Y_p)(F^*(f)) = (X_p + \alpha Y_p)(f \circ F)$$

$$(X_p + \alpha Y_p)(F^*(f)) = (X_p + \alpha Y_p)(f \circ F)$$

$$= X_p(f \circ F) + \alpha Y_p(f \circ F)$$

$$= X_p(F^*(f)) + \alpha Y_p(F^*(f))$$

$$= [F_*(X_p)](f) + \alpha [F_*(Y_p)](f)$$

$$\rightarrow F_*(X_p + \alpha Y_p) = F_*(X_p) + \alpha F_*(Y_p)$$